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for the questions

1. Choose the correct option/Answer the
following : 1x8=8
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(@) o
(iii) A
(iv) A’
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() Define diagonal mAlrix.

(dj Mention one property of CES production
function.

(e 1f C=120-10g is an average cost
function, which of the following is its
marginal cost for g=57

) 20
(i) 30
(i) 25

(iv] None of the above

5 e T T

3

is marginal PTopensity to save (MPS)?
M) 1
(i) 07
(i) 0-3
(iv) None of the above
(g9 Given MC=2aQ+b. TC is
(i) bQ+c
(i) aQ? +c
(i) aQ? +bQ

(iv) aQ? +bQ+c

Given, c_=1000-o-7Y, where C is
con-sumpnon €xXpenditure and Y is
National Income. Which of the following

(h) Write the necessary and sufficient
conditions for the maximization of a

function y= f(x).

2. Answer any four of the following :

4x4

(a) Write the assumptions of input-output

analysis.

(b) Write four properties of determinants.
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the value of g at which margip,
Find 1 average CoSt:

cost €

The @ argin
(7
o

of deman

. (b)
nal revenue function ig giver
_4(. Find the point eJastxan,

10. :
& i

3. [ Deﬁne the following with examp]eg .
244.,

Unit set; Power set; Proper £

subset; Intersection of sets.

fi] If A={1 4,5} and B={4,09, 10}
find (AUB)\ (AN B).

Or

o Distinguish between relation and

function with example. %
(%) Draw the graph of y = x2 42

4100/5398

coefficient
vector are given below

Find the sectoral output Xy, X, and X,

Solve
model using Cramer’s rule ©

P15—4100/5398

(5 )

In o three-sector economy, the input

ratriz and  finsl  demand

03 0.0 0.3 5007
A={01 0 04| F={700
02 0% 0 [600}

11

Or

the following National Income

=4y -T) (1>0;0<p<])
T=4+06Y (y>0;0<8<1])

In a perfectly competitive market,
the price of a product (g) is T4
and the total cost (C) of a firm is
given by

C=q° -15g% +31q+100

Find profit maximizing output and

maximum profit. 6
Show the relationship among
Marginal Revenue, Average Revenue
and Price Elasticity of Demand. 6

( Turn Over )
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' m,,plhm ol & TR ; .
b ,””’“”Hll“ o (if) Given the marginal cost function

f glven hy CUQ) =40Q% ~16Q+25

{)—hl\"/"""/u f
¢ . :l{h‘ut is the decrease in total cost
/ and N oare lahour and ""‘l)il“] j ’;E(J' "“S(f)‘liput pr‘oduced is reduced i
whare 1 setively. The cost functig, e m 10 to 5 units? 5 i
. 2 ;
inpute " (e 10K pal, Find the leagg £ 7, (@) () Solve the diffe i i 3
et y | jabour tio, when © ppll rential equation
cont copit! ol Y _g
dx 2
" s ; (i) Analyze the followi
e the unes of inte owing market model
o ” (“H(:“““ . «Hr“] f stabili X
6. ) ”lllflﬁm in economics. : OF Stakiliey : 3
calot 5t Q4 =14-3P
(i) Define pmduccr‘u surplus,  Givep Qs =-10+2P
the pmdu’ct:r’ﬂ supply function ili =4(Q, - Q)
Ou J-A AP and markel price g , dt i
{0, Find the producer’s surplus, : Oor
2+4.6 : (p) (i) Solve the first-order difference
2, equation y;,, +3y, =2 and yo =5. 4
. % : (i) Given the demand and supply
() () Definc marginal propensity to save functions for cobweb model
5), Gi unction -
(MPS). Given MPS f : Qg =10-2P,
ity | -
MPS=S¥) =0-3-0-1y 2 | Qst =—5+3F1
and saving is zero when income Flr.ld e mtertempo.ral Equibrm
< 81 Fi ) price and also examine whether you
is 81. Find the aggregate saving : 5 nty -3
functi will get stable equilibrium. T
unction. 2+4=6 |
S * % %
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